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~ An area of a figure come 1n contact with triangle ~
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9&01:: 0 ~fnglish Translation~

A circle comes 1n contact with equilateral triangls. A diameter of
circle 1s 5Sun 7 Bu 7 Rin 33. We will show you this reason.

First we double 433.Second
In it 4 times, 3 times 1 divided 1nscribed circle diameter 0.57733
obtained.

an 1nscribed circles a radius 1s r.

In an equilateral triangle is inscribed squares of both large and small.
Percentage of large inscribed square on the side of the equilateral triangle (1
feet) of the 4-6-4 Rin one (0.4641), so this is a big square of side length. Also so
large a square of side falls on the side of the equilateral triangle inscribed small
squares, similar to the large one edge of the square and small square side to
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~Summary / Future Problem / Impression—~

=& ~Summary~
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You can ask the diameter of its triangular shape and divide by the
number 4 times the area of a triangle and the length of each side.
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In an equilateral triangle and inscribed square large and small, when
several right-angle triangle.
You can ask by using the similarity of these triangles.
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Both problems by using the properties of triangles was seeking. Power
to solve the problem by using the properties of shape like this in
modern mathematics needs is essential. So or various shapes is what

nature is also think future challenges to successfully utilize the nature.
%48 ~Impression~
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We have explored using a triangular shape. Wasan explores for the first time

that a modern English translation of Edo to or translate into English it was hard.

Understand the intent of the problem solved at all the answer when had a
sense of accomplishment. 277 FIF SMHE
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9&01:1 0 ~Fnglish Translation~

Equilateral triangle with inscribed circle. Why the diameter of
this circle is the 3,500 33 5-7 minutes is as follows. The 3 x 1
and 4 x 433, on the side of a triangle to be divided and
inscribed circle diameter is obtained.

In an equilateral triangle has both large and small squares. On
one side of the larger triangle one large positive on the side of
the equilateral triangle (one Shaku) is at a rate of one edge of
the square 4-6-4 Rin big one edge of the square (4-6-4 Rin
one) obtained. Making same values greater one edge of the
square and small square side wanted the whole reason is as
followlLarge squares of side length is equal to the length of
one side of an equilateral triangle inscribed small squares.s.
Therefore the percentage of small square side for a small
equilateral triangle each side is the same 4-If you take the this
value is for the 6-4 Rin one, small square side is obtained.
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